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QUESTION 1

A candidate applied for an employment opportunity with a legal employer in the past. The candidate reapplies after
some time for an opportunity with a different legal employer in the same enterprise. While applying the second time, the
candidate provides a new national identification value.

Which option does the application use to check if a matching record already exists in the system?

A. The application cannot identify the matching record and there will be two person records available for further
processing.

B. The application identifies a match if the first name, the first character of the last name, and date of birth are the same;
or if the last name, the first character of the first name, and date of birth are the same.

C. Because the national identifier has changed, the system cannot identify the matching record.
D. The application searches for the availability of date of birth and middle name to identify the matching record.

Correct Answer: B

QUESTION 2

As an implementation consultant, you are required to set some approvals under Manage Employment tasks as Auto
Approve.

Which two items need to be specified while defining the BPM Worklist Rule for auto-approval?
A. Enter APPROVE in the Auto Action field.

B. Set up dynamic approval rule.

C. Enter AUTO APPROVE in the Auto Action field.

D. Set Auto Action Enabled to True.

E. Select Number of Levels as 0.

Correct Answer: AD

QUESTION 3

A worker in an organization will be holding a new position because the worker holding the position has
gone on maternity leave. When the second worker is back from maternity leave, the former will be moved
back to his or her old position.

His or her payroll and legal reporting will be the same even after the position changes.

Which transfer method should be used for the first movement of the said worker?
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A. Global Transfer

B. Transfer

C. Temporary Assignment

D. Global Temporary Assignment

Correct Answer: C

QUESTION 4

An employee starts employment with her company in France next month. She was employed by the enterprise in the
United States for several years, but resigned two years ago. Identify the correct statement about the person number for
the employee.

A. The employee has a person record with the enterprise so she will continue with the same person number.

B. The employee gets a new person number for her employment in France if the legal employer sequence is used for
person number.

C. The employee continues with her old person number if global sequence is used for person number.
D. The employee\\'s new person number will be her previous number suffixed by -1.

Correct Answer: A

QUESTION 5

As an implementation consultant, you are required to define a legal entity. Which three options are correct about a legal
entity?

A. A legal entity may act as a virtual organization.

B. A legal entity must comply with regulations and local jurisdictions.

C. A legal entity can be identified as a legal employer in Human Capital Management.
D. A legal entity can own assets, record sales, pay taxes, and perform transactions.
E. Legal entities are not responsible for payment of social insurance.

Correct Answer: BCD
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